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6raphing Calculator Investigation - Quadratics in Vertex Form

Using y = a(x - h)? + k - consider the following questions:
1. How does changing the value of h affect the graph? Consider the following as examples.
y= 2(x- 52 -7 y=2(x-3%-7 y=2(x+2Y¥-7 y=2(x+6)¢-7
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2. How does changing the value of k affect the graph? Consider the following as examples.

y= 2(x - 5% -7 y=2(x-5)¢-3 y=2(x-5F°+1 y=2(x -5y +4
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3. How does changing the value of a affect the graph? Consider the following as examples.
y= % (x-5¢-7 y=2(x-5¢-7 y=4x-5¢-7 y = 10(x - 5% - 7
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4. How does using -a instead of a affect the graph? Give an example and explain.

T ~a is used +Hhe 8%0*\ 15 rﬁC({c—f-c&( over
the x-4Kis, f"a = posmuz Fhe 5%0/)
Opens Upward ond T+ Q & nggafwe i+

11l m2EN a[z)u 7 P>



